Lesson #58
Slide and Divide Introduction
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Success Criteria: I am reviewing how to factor out a GCF and using the x puzzle. I am learning the process to
do the slide and divide method.

Circle the correct factored form for each problem. Use the GCF method.

1.3x> -6x = 3x(x - 6) or @

2. 8xy +6x = 2x(dxy+3)) or  2x*(4y+6)

Circle the correct factored form for each problem. Use the X.

3.x—x-6 = @or (x—6)(x+1)

4. x> —18x+72 = (x—2)x—36) or Qc‘- g)(x—12)\)
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Circle the correct factored form for each problem. You may distribute the answers.

5.5x> +17x+6 = <(5x+2)(x+3) )>r (5x+5)x+12)

6.3x* -2x-5 = (3x sxm (Bx+5)x—1)
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7. Follow the step by step process below for “Slide and Divide”.

For the expression  3x> —2x—35:

a. Identify a, b, and ¢ in this expression.

a=5 ' b=-2 g ey

b. “Slide” the a in front of the ¢ and multiply ac to create a new expression. Fill in the blank with qc.

x?=2x— 15
c. Create an X, where the number on top is ac, and the number on the bottom is b. Solve the X.
-\5

y
RS

Rewrite the original problem by filling your two answers into the blanks of this expression:

x'=2x-15=(x- 5 Yx+ 3 )

e. Divide the number in each parentheses by a (fill in the fraction). Then simplify and fill in the blank.

x*=2x-15 =(x—
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f. “Slide back”: If there is still a denominator, slide it back in front of the x in each group. Fill in the blank.
5
[x——j(x+1)=(}x—5 Y +1)
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g. Look at your results, How do they compare to the answer to #6?
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Section 7.6: Factoring ax’ + bx
.

Warm-Up:
Factor each expressiork Remember to always check for a __%_.___—-—-———

< 5
1. x*-12x-64 §<\‘v 2. Tp*-A2p 3 -5><\
E(+q)(x-“,) " ’I(Pl'lo *\'5) -
1(p-5)(p1)

Solve. -3 -1

3. x’-2x=63 4. Sx-14=-x’ ‘1>21
XE-2%-65=0 .q>§1 K451-14=0 1

(x-%) (x¥7) =0 (;s::)i)cfx 2 fi
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What are two ways we could check our

Success Criteria: I can factor a polynomial that has a number in front of X2,

Factoring ax’ +bx + ¢
Find the factors of ac that add together to give b.
Then follow the method from the Introduction.

Examples: Factor each expression. Remember to check for a GCF
{D 5
1. 2x” +11x+5 >< 2. 50" -8a+3 Xs
-3¥-
O (a-3)(a-5)

\ﬁ'ﬂ (2x+1) [(Ea%m
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L 6x% —19x +15 '%b
A X = "lq

x-9) (x-10)
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4. 8p> +10p +6

2(4p* +5p+3) o

cont be foctoed



- Lesson #59 ) \‘
L Factoring Special Products (a’ — b") !

Success Criteria: I can factor special products using the x method, slide and divide or the pattern
method.

] M .)
Warm-Up: Factor each expression using an X. (Hint: If there is no x-term, what is b?)

b
[(x+4)(x-4)| © Teant be |
Pad'b(cdj
3. x2+8x+16 S{
'[ X+4) (xr4)

Difference of Squares Pattern: (TWO Terms)
a’—b*= (a+b)a->b)

Example: 9x° =25 = (3x)? — (5)° = (Bx+5)(3x - 5)

**There must be a subtraction sign in between terms***

Nre
Examples: Factor each expression. Be sure to always check for a wil v

4, p-25 . 5. 165* - 225

pi-5° I(p"’?ﬂ(pﬁ\)l (47 -15"  (ds1)4sh1s)

6. x* +4 ) D 7. x-4x+4 4‘}"
X2 102 (x-2) Xl




Examples: Solve.

8. x'-64=0

a4
4 X%

0

(x-%)(x+9)=0

Xx%-0
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- Fo otar Remember to check for a
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9. 8n* =32 4
Gt -51=0 «2542
B(n*-4):=0
B(n-2)(nt2)=0

n-1:0 WY

11. & =12x+9=0 3\0/

(%/%3(#(%3"0 N
(4%-0) (4x-6)=0

(2x-) (2%-%)=0
2x-3c0 %320

1r=D Y

= B
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L Lesson #60 j
Factoring Polynomials Completely |

Success Criteria: I can apply all of the different factoring methods I have learned to different situations.

Examples: Factor each expression. Be sure to always check for a GC £ !

]!
1. 2°-4z*-217° AX3 2. 9x* +6x+15 5><

23(22-42-21) /4 3(3xH2x+5)

|23(z-7) (zﬁ)} con'* be Fackocd |

40

3. 12x> - 2x-30 ~@<q 4. 2x° —162x°
2(o-x-15) 7% (x7-3V)
2(%-10) (x49) ¢ (x*-9")
G G [ a v
. |22 (4-9) (x19)

7( X-2)(x+2) S A
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L(X 5) )(4 )
- (5x—5§ (2x+3)




1. 2x° =14x7 +36x 1

2

2%3- 14x % -3(x-0 }4
2X (x2-7x -13)=0

X (X-9) (x+2)=0
2x-0 x-9=0 x12=0

o) [x9] =72
3 2 L
3. 12x" +42x° =-18x {
V)
1253 442x2 +13x=0 >“<
LY (2 4+Tx43):=0
X (x4@) (x+))=0
z Z

lx (x13) (2x+1)=0
byz0  X43:0
Practice: - K:_:‘:?}q

Factor each exnression. Be™
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Examples: Solve each equation. Be sure to always check for a 6( F !

2. 12s'=3s?

iZ'Sq -?;%7 =)

357 (457-1):=0

35 (1)2-1) =0

352 (25-1)(251=0

2520 25-1=0 25410
25- | 25="!
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